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g G Q? 2 e Al er| 1
v L t Rate of flow of heat is:
UI’IJ‘Z] U/if Lﬁ‘]d’:/ Lj—{!f ?@)KQ/‘]‘J@'U:(L%‘J’; 2
Absorption Conduction Radiation Convection | In solids heat is transferred by:
| Lall ~0AT) To(aAL) Lo(l+0AT) | To(l+aAL) _ D= (L) sL Ui | 3
) Linear thermal expansion in solids (L) =:
mgh pgv? pgv pgh i /’:{Kd('{d'/:(h 4
o B _ Liquid pressure at depth h =:
mgh ngh mv? %sz - =(P.E) J“;"J;Q 5
Potential energy (P.E.) =:
764 W 746 W 647 W T4 W e alany Al 6
1 horse power is equal to:
o " . /0 5 n»»«‘(‘,‘ 5 & F . 7l
Vo Zng Vi / ng vo =R Vo=\/—gR %Uf/b(i—/"}b/‘/fffdr/’\/d ML‘JL/@/%%J'% 7
Formula to find the orbital speed of a low orbit satellite is:
4 3 2 | sk 28E K| 8
Conditions of equilibrium are:
RR? ) RR = e () 26| o
R 3 Coefficient of friction (n) is equal ta: ]
kgms2 kgms"2 kgm‘ls“'] kgms“I : 4"—&2.' SI K(?’/ 10
SI unit of momentumds:
24 u))’,&' L7 vt i‘f—/.'/.s,-«/.’d"’bﬁ’;’uﬂ&'ﬂj it
Force Acceleration | Displacement Mass The product of velocity and time is equal to:
Jr whd ¥ e e QP Sedent| 12
Mole Newton Kilogram Gram Amount of substance is measured in:
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( Part-1

Write shoft answers to any FIVE parts.
Define base and derived quantities.

What is meant by Vernier constant?

What is the difference between rest and motion?
Define acceleration and write its formula.

Write two characteristics of physical quantities.
What is the law of inertia?

Define force and write its SI unit.

Iow can vector quantities be represented graphically?
Write short answers to any FIVE parts.
Define torque. Write its mathematical formula,
State and explain Principle of Moments.

Define rigid body and axis of rotation.

What is gravitational constant? Write its value in SI unit,

On what factors orbital speed of satellite"depends?
Define efficiency. Also write its formula.

What is meant by the term power? Define 1 walt.
What is meant by density? Write its formula.

Write short answers to any FIVE parts.
Define pressure and write its SI unit.

Differentiate between stress and strain.

What is Hooke's law? What is meant by elastic limit?
Define the terms heat and temperature.

Define latent heat of vaporization.

Why conduction of heat docs not take place in gases?
How does heat reach us from the Sun?

Write two uses of convection currents.
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Part - 11, Attempt any TWO questions. Each question carries 09 marks.

_:éjélabbf(j/»d/c/’//a,ugfdff?hk ()

Derive the sccond equation of motion with the help of speed-time graph:

el sitnl Sy —e 803 200N s FE L d0kg L L0t SF gc,u‘%)“[!.f. 3ms? (L)

?9-0';( J/:"de/'

A cyclist of mass 40kg exerts a force of 200N to move his bicycle with an acceleration of 3pg2.
How much is the force of friction between the road and the tyres?

Define kinetic energy and derive its equation.

S sl 3 ASE I BdK (L

-érﬁb”u})(ﬁ:/‘fg -<4.4N »! 3.8N ﬂbfu,;’/)} ,ct-p_@c,uyﬁd»%;ﬂ)}g%/f (__,)

A picture frame is hanging by two vertical strings. The tensions in the strings are 3.8N and 4.4N.

Find the weight of the picture frame.

=51 (P = pgh) Uit o lond 2y Ut WL (L)

Explain the pressure in liquids and derive its formula (P = pgh) .

~¢ 336000Jkg™ FendSb L 506 (8 e i Sreandzs0000 (L)

How much ice will melt by 50000J of heat? Latent heat of fusion of ice = 336000Jkg™!.
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D C B A Questions / o Yl e
Jr o e oS ekl Sedongii |
By The amount of a substance in terms of numbers is
Mole Newton Kilogram Gram measured:
:Jné{:&ﬂdﬁ ms™! _4_6‘/1’1:/(7:.}'{0/ 36kmh™! 20T 2
-~ -1 = = T . ) o T
30ms 25ms 20ms™! 10ms™! A train is moving at a speed of 3gkmh~! . Its speed
i ,
| expressed in ms™
1‘ Ns~! Ns kgms™2 Nm -‘4&{’((?)” 3
) L B The unit of momentum is:
P - Bbegal ¥ 30° AL A1 xdfilhiio] 4
87N L N L A force of 10N is making an angle fﬁ&mf
L B of 30° with x-axis. Its horizontal component will be:
i) 9 LI 100kg £ e 1.6ms 2 d /i’J}:l, 5
X g4 g4
1600N {000N 160N 100N % 2 s
The value of g on moon's surface is | gms=2 . What will
- . be the weight of a 100kg body on the surface of moon?
Cos :
S0ms ™! 25ms ™! 12.5ms™! Sms™! 'Jﬁ’:{&ﬂ -cl:,v?J:?ZS KE. Jr)v“aé Zkg| ©
The K.E. of a body of mass 21:g is 25J. Its speed is:
103 Nm 2 102Nm—2 INm™ 10*Nm 2 i ::ét.ﬂ/“f‘){/if"g/"%‘)?g&zgﬂ{u:d‘}.'r,/ 7
ST unit of pressure is Pascal which is equal to:
A Iy L{‘Kfﬁ oL 7 e LIz U | 8
| Allthese Wind Stirf?icgl]?;ea oF | Temperature | Which affects evapotation?
l e (SIS ASE WK ¢
L 430 400 300 200 @IS WK G|
L The thermal conductivity'of copper in W=k} :
1‘¢QJJ{/~JT¢?&U&?)}£55/.f7'/ﬂ//k‘ 10
I B2 g G4 The value of coefficient of friction between tyre and dry
B N road is:
ot 58 ol el FRO AR
Kelvin Candela Pascal Ampere The derived unit is:
900Jkg™"K ™! | 42000ke” 'K~ | 21000kg=" ! | 8357k~ K! . ' corZei e 12
B The specific heat of sand is:

el
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( Pa/rt -1 JJ‘ 4Las )
Write short answers to any FIVE parts. F%‘;,L' i a@lﬁ/ﬁﬁd?.lé&c,di/

Differentiate between base and derived quantities. _’&Jﬁ)ufu,/w;}wd}g Q)
Decfine prefixes and give one example. L)JDJAIF:._«J/JJ/GJ/ (ii)
Your age is 14 years. Convert your age in seconds. -cf;}‘)/réu"{/ «C‘_.Jt/ 14/JV| (iti)
What is meant by position? "c‘_ﬂ/U/c_,u)/:’ (iv)
What is the difference between distance and displacement? ('c_u/l/u" v/"‘l"/wf.lﬂb )
Define gravitational acceleration and write its value. _ﬁgux’ JJ'}JISJ/JJU/,)/’C'J/‘U)’/ (vi)
Define momentum and write its unit. _&Ju:'gubﬂc{vd/p(fyr (vii)
What is meant by coefficient of friction? Also write its symbol. -éu"l/wdw °c_,)l/U/c,uJ/uiv/djl/ (vm)
Write short answers to any FIVE parts. ul,’i/‘féf']‘étc,df
Differentiate between line of action of force and moment arm. -éubu/ulz‘uér‘ 1.//15&]/}..) 'u’(LJ ’JU (i)

A i “,fa__b.f,, S e i Tesy (i)

What is meant by moment of force? Also write is it vector or scalar quantity?

Give an example of a body which is at rest but not in equilibrium. _ruu"(’/)d;ldofu”u//ié)dl/d/")d'uf (iii)

Define geostationary orbit. - u/"du/ Vdf*”r’ (iv)
Write two uses of artificial satellites. «d’ngW'J)L_u*U“ S (W)
Differentiate between artificial and natural satellites. _éuyu/wwwd/pj,wa (vi)
Define cnergy and write its unit. &.Eu:‘Ku’fu'c{J/;JJ)' (vii)
Write the SI unit of power and also define the unit of power. -éd{,ﬂ/(,(u)'éut/:i&du)’ SI Kl (viii)
Write short answers to any FIVE parts. -Jutii/‘férlﬂ@tc_gf
What is meant by elasticity? "c.)'/t/:_ ﬂl (i)
Define the term pressure. _c";rJ/"JZ/UV‘J// (if)
What is tensile strain? Give its formula. ,éumbt{w vG—U/J/JL"’ (iii)
Define heat capacity. qéJ:J/’JJ'L/L}/V (iv)
Define the terms heat and temperature. _é‘;(».-é{/chla W'Ué/f»lu/l/ v)
Define convection. —Q{ﬁ—ag_}/“fJu:{)f (vi)
Define thermal conductivity. -gﬁ/..{l/’]g;&:fsz)/; (vii)
Define land breeze and sea breeze. -{}/.,y/i,(g,‘fﬂ;id/{ (viii)

-uj/,} 09 L Jlrs wsf:f{/;aglﬁﬁolﬂruc;(j/ c(.’xjaluln

Part - II, Attempt any TWO questions. Each question carries 09 marks.

With the help of speed-time graph, prove that: Ve =V, +at féru b JJ'//(/HV ()
t e IS P £ e 3ms™ e L s SOem FL U 05 ()

How much centripetal force is needed to make a body of mass 0.5kg to move in a circle of radius
50cm with a speed of 3ms™'?

State and derive law of gravitation. -éﬁbﬂéfubuﬂ?(j‘:fﬂj (D
_é Jl”u’w)fd»féu" -Ld/l/,/J'/b/BOOm’VL/(f xJ»’J 50N (o)

Find the perpendicular components ofd force of 50N makmg an angle of 30° with x-axis.

sl L= Lo(l+abT) 2 & eo bt i ASSE S AU L2IF ()

Define.and explain linear thermal expansion in solids. Also derive L = L,(1+aAT) equation.
S _+r@njuﬁvlmmu:duu(w,;é,@wmoooowg/u)w/ 5x10-5m? Ll iK1 (L)
-é{r}’ﬂ/})»’yc-'%l?

A steel wire 1m long and cross-sectional area 5x107°m? is stretched through lmm by a force of
10000N. Find the Young's modulus of the wire. .
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